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EXAMPLE Assumes
\
,

- Fair coin
!

Face A coin it I - p

IF HEADS
,

you
win $100 .

T → 100 112 → p

IF
TAILS

.

You PAY $5 .

DO YOU TAKE THIS BET ? A FAIR BET IF # (x) -

-
O
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- 5(4) +100 ( Ya)
= 47.5
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EXAMPLE SAINT PETERSBURG PARADOX

-

FLIP A FAIR COIN UNTIL you SEE TAILS .

-

You win
2¥ Dollars

WHERE K = # FLIPS .
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How much
WOULD YOU PAY TO PLAY TH 'S GAME ?
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DEFINE X = money
won

Efx] = 2 - I + 4. I, + 8 - ft . . .
.

= A

1
ANY FINITE Amout ? ? ?

SEE ALSO CAUCHY



Ttm RULE OF THE LAZY STATISTICIAN
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Examine X - Bi-on (nip )
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